10 Graph bug 1: The LOAD stat in the last row of the tshark output and last column of the Wireshark dialog is incorrect

because rpc.time is divided by the full interval (10 secs) rather than limiting the interval to the capture duration (2.4 secs).

the following example, the last interval is shown as 3.25 outstanding requests when in fact it is 11.22 secs.
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10 Graph bug 2: Intervals at the end of capture for which there is no data are not displayed.

In the following example the capture duration is 11.8 seconds but the last 44 intervals (7.6 to 11.8 secs) are not displayed.
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10 Graph bug 3

When an interval is clicked, a frame not containing values belonging to the specified LOAD field and/or with a timestamp
outside of that interval is highlighted: When LOAD is selected and the user clicks an interval that does not contain a
response, the first frame of the next interval with a response minus one is displayed. If there are gaps with no responses, a
completely irrelevant frame is selected.

Current: In the following IO Graph, interval 0.64 was clicked. A request in frame 369 is outstanding and is replied to in
frame 377.:
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Frame, 376, is highlighted with relative time 0.80.
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130.170.71,195 148,98,18455 0.801744 Fragmented IP protocol

proto=UDP 17, off=0, ID=4f94) [Reassembled in #376]
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372 130,170,71,195 148,98,184,55 0.801860 Fragmented IP protocol (proto=UDP 17, off=1480, ID=4f34) [Reassembled in #376]

373 130,170,71,195 148,98.184,55 0.802011 Fragmented IP protocol (proto=UDP 17, off=2960, ID=4f34) [Reassembled in #376]

374 130,170,71,195 148,98,184,55 0.802130 Fragmented IP protocol (proto=UDP 17, off=4440, ID=4f34) [Reassembled in #376]
[
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148,98.184,55 0,802280 Fragmented IP protocol (proto=UDP 17, off=5920, ID=4f34) [Reassembled in #376] —
3 3 95 148.98.184.55 0. 3 WRITE Call (Reply In 379), FH:0x34afas set:532414464 Len: 8192 STABLE
377 148,98.184.55 130.,170.71.195 0.803391 3 WRITE Reply (Call In 363) Len: 8192 UNSTABLE
378 148,98.184.55 130,170.71.195 0.803877 3 READ Reply (Call In 370) Len:0
379 148,98.184.55 130,170.71.195 0.805250 %3 WRITE Reply (Call In 376) Len: 8192 UNSTABLE
380 130,170,71,195 1489818455 0.805868 Fragmented IP protocol (proto=UDP 17, off=0, ID=4f35) [Reassembled in #385]
381 130,170,71,195 1489818455 0.805990 Fragmented IP protocol (proto=UDP 17, off=1480, ID=4f95) [Reassembled in #385]
| 382 130,170,71.195 1489818455 0.806119 Fragmented IP protocol (proto=UDP i?, off=2960, ID=4f35) [Reassembled in #385] JLI
4 »

Frarme 376: 1014 bytes on wire (8112 hits), 1014 bytes captured (8112 hits) j
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Corrected:

If the clicked interval does not contain a response but at least one call is outstanding, a temporary message to

that effect is displayed in the Status bar and a frame is not highlighted.

If there is a way for the frame number of the request to be available to this tap, when clicked the frame of the lowest
request or response (in that order) could be selected and when right-clicked the frame of the highest response or request (in
that order) could be selected. | was unable to find a way to access the frame numbers of requests.
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